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Logsum aclin i n
V acl inm n
m
C aclin n
X inmk n m k
LBaclmk
-0.0253961 -0.0305174 -0.0301472 -0.0245645
(-3.2) (-3.9 (4.7 (-2.3)
-0.000689270 -0.00114673 -0.000897898 -0.000914396
(-8.70) (-8.8) (-5.3) (-6.8)
-1.34997 -1.22959 -1.25736 -1.29418
(-13.6) ( -9.8) (-12.6) (-10.9)
0.853591 0.0851779 1.48603 0.427303
( 4.9 ( 1.0) ( 10.7) ( 6.0)
0.386443 0.292708 0.404317 0.267829
( 8.4) ( 7.5) ( 8.0) ( 7.1)
0.196 0.179 0.183 0.171
76.5 72.2 70.9 68.8
/hr 2,211 1,597 2,015 1,612
3,386 3,349 3,007 3,333
-0.0308729 -0.0353191 -0.0183089 -0.0244665
(-12.6) (-10.2) ( -8.0) (-11.1)
-0.000654275 -0.000755753 -0.000661894 -0.000878095
(-10.2) ( -8.6) (-10.2) ( -6.0)
0.751375 1.05290 0.636141 0.457907
( 16.2) ( 16.7) ( 13.9) ( 4.7)
0.280 0.515 0.214 0.577
78.7 87.0 74.1 88.4
/hr 2,831 2,804 1,660 1,672
3,574 3,280 3,275 2,766




